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@® x*-25=(x+5)(x-5)

@ x> +2x-8=(x+4)(x-2)
® 2% +Tx+3 = (2x+ 1)(x+3)
@ 4x% 4+ 4x-15= (x—3)(4x +5)

® x?-14x+49 = (x-7)?



2. o Al A9 54 g

W2 4+ x—6, x2—4, 3x2 —4x—20

@2)6—3 @X—5 ®X+2

@ x-4 ® x-2



3. ab-b-a+ 1S H2A AFEF T A7

@ (a-b)(b+1) @ (a+b)(b-1) ® (a-1)(b-1)
@ (a+1)(b-1) ® (a-1)(b+1)
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o5 B71 & xy(2x + 3y) —xy(x +y) o] A48 BF IE A0

H7]
@ xy © x+y ©® x+2y
® 2x+3y © x(x+2y) ® y(x+y)
® ©,6 ® 0,0,0 ® 0,06
@ ©,®,0 ® ©, O,




9. (r-Dx-2)(x+1)(x+2)-10= Apasha?

@ (*-1)(x*-6) @ (2 +1)(x2-6)
® (x* - 1)(x* +6) @ (x* +1)(x +6)

® (2 -1)(x2-5)
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